148 iy
,
>¥/< 7500
2000
52 943 10 943 52
REE A2 OBE 12mm o5 Aite A2 OKE 12mm
I_o_ 1]
gix
off s
o N
x
o OJ+ s {%3 s =
E =8
2
D
7 J %
o \
° \ | ] \ ol
Ill \ h \/ \ )I//\
5 ® 5 ol 2
N ER >
§§ i [
BN (1720
- of

0550

) EROAZIESETETY,

o

4
270

I @\':‘ﬁ]

TT $13 T

o

i

60

NBHBN (17 8)

8

) BRHREIBROLS. FELERTHIENHVET,

182)40) 2 & |BREsh<URFY 8@EMT )
% 'i 5 |27 [osErn
—1\ N ST
=0 - 12 2000 (@meE)
i | BE%ES | KFTHO5061% 2
1007 69 @9
(:3(;3 ;:) 35
\ \
@
t 8///@@
{HFAAR (1/8) D&M (1/8)

%% LS B B (mm) it g i z

1 BAE 0100x50xt3.2 STKR400 HEWARE (FEHn- &)
2 Fitxvy 7 t1.6 SGH HENAZE (ThBivn- &)
3 PR (BAD 50x 64.5 AB063S BEBEEAKE

4 MM GiaD 50x64.5 AB0B3S BEBTEARE

5 PEH (24D 50x64.5 AB063S BEBEEAKE

6 A 25x 60 AB0B3S BEBCBARE

7 HHLLAZ t3.0 7 RERBRAN -

8 v - Ff - I7Ab- -

9 filkxvy 7 - ASA -

10 Rxvy T ¢ 16/ F40y -

11 HEel t4 ATV LA -

12 228 t4 AFYULA -

13 [ B! t3 ATV LA -

14 AEY KW 15 ATV LA -

15| ACYENAy %Y ¢ 19/ CR -

16 LY VR t6 SPHC HEWAERE (FBHo- &)
17 kyy té SPHC HEWRZE (ThBfin- &)
18 LY YRREE t13.5 SPHC HEWAZE (ThBfin- &)
19 DI $12 SGD BRlEgH Do &

20 By 4x 20 AFY LA -

21 B 12 Exl -

22 BLBZEE t4 AFY LA -

23 U $13 ATV LA -

24 SYr4T $22 PVC -

25 FkVA t2 A6063S. EPDM -

26 Bt b M10x 125 4.618% BRBHD- &

27 " M10x 90 4.618% BRERD &

28 " M8x 75 ATV LA -

29 " M8X 65 ATV LA -

30 FIANRY M4x 10 AFY LA -

31 BRI M4x 10 ATV -

32 FRNRY M4x 8 ATY VA -

33 F7A by - H52 7LIFA4HAL -

34 Mii#F28 t3.2 SGH Fio - & HHENHRESE
35 Bft A b M8x 115 4.618% BRERD &

36 Bt b M8x 20 4.618% BEERDo &

37 B Uit - BARLM -

38 FREYWZY M4x 15 ATV LA -

39 EH N - t1.6. t1.2 SGHC Fio - & HHENHRESE
40| PEViHxevy 7 t1.0 PVC -




